% % & fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
1 1 3 1
43+10x =+5—-5x%x5,8= ——=X2+-=
’ 3 ’ 6 5 4
4,9-12x3,7+4+3x3,2= i4+20xl9+4+3x;=
3 1 _ . _
5,5+§x3—8x§+4= 4 3—-12%x4,6+3+4x3,7

1 3
5T 15%2,4+5+2x2,5= 3,7+4,1x5+15 % 2 +5=

4,5+54+3%3,6= %_&2X2_12x%+4:
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LA

fyra brak, decimaler, ordningsfoljd

namn:

| 721 1
4,3+10% = +5-5x58=(——)= (24—

17 2
4,9—-12x3,7+4+3%x3,2=— =3—
5 5
3 1
5,5+ > x3-8x-+4=9
’ 2 2
1 17 7
——15%x2,4+5+2%x25=(-—=)=(1—
207 7
4,5+5,4+3x3,6 = —=20—
’ ’ ’ 10 10

Datum: Poéng:
1 | 47
——=X2+-=(—)
6 5 4 60
I 107 2
504+20%x2,9+4+3%x == — =2]-
’ ’ 2 5 5
7
4,3—12><4,6+3+4><3,7=-1—0

3
3,7+4,1><5+15><§+5=26

1 1 409
S -3,2%x2-12% —+d=(——
3 4 60
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